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Notc : (l) SepaEtc answcr book must b€ used for cach sccrion in the subjccr-Gcologl
Engineering matcrial of civil branch and Sepamte a[swer-hk must bc used
for Section A and B in Phamacy and Cosmedc .lbch.

All question cany cqual marks.
nnswer Two qucstions from Scc(ion A and Ttrro quqstion. from S€ction
B.

Assumc strirable dala wlrcrever neccssarv.
Retaiu thc consiruclion lincs.
Usc ul calculuior is pcrmitrcJ.
Use pen of Bluc8lack iolc/refill only lor \f,riting the answcr

(21

(3)

SECTION A

(4)
(s)
(6)
(7)

l. (a) Solve :-

2. (a) Solvc

d'2, dzz . dzz
;F t 

dxjdy -o dtr= Ycos t

(b) Solvc :-
(D'D'+D+3D'.2ylt=x2y

l0

l0

IO

r0

1o2 + 2DD + D 
z- 2D 2ci 1z = sin(x + zy)

du du
(b) Solve thc equafon - = 2 - + u. subjcct ro rhc

Ox At

condtion rhat u(x, o) = 6.e- I' by mc6od of scparation of variablcs
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3 (a) A rod of lcagth I with insulared sidcs is inirially at uniform tcmpcraturc, ud.
lt's cnds are suddenly coolcd to 00C ard arc kept at that tcmpcraturc. Irind
t}le tcmperaturc function u(x, t) satisfying equation

du
ar

l0
(b) A tighrly srrcrchd sring with thc fixcd cnd points x =0and x =/is initially

at rcst in ifs cquilibrium position. If it is scr vibmring by giving ro each
oi it's points a vclocity ),x(/ - x), find rhe displaccment of rhc srring at
any distancc x from one cnd at any timc t. 'l'he wavc cquation is

d2v , 62v

,i=-d*,
l0

(a) If P is thc pull rcquhcd ro lift a load W by means of pullcy block, tind
thc l-incar Law of thc lorm

P = mW + C using following data
P 12 15 21 2s
w 50 70 100 120
wherc P and W are rken in kg-wt.
Computc l> whcn W = 150 kg wr. j

(b) 'l'he probability thar bad rcacLion from ccnain injccrion is 0.ff)1, Dctcrminc
thc chancc that out of 20@ individuals morc than rwo will gct a bad
rcaction. j

(c) Find thc coefficicnt of correlation bctwccn x and y- Also linrl Rcgrcssion
linc of y on x, for tlc givcn data

x12345
y253876

..rD'u-a*'

SECTION B

4

5 (a) Givcn that :-
x5
y 150

7

392
ll
1452

I3
2366

l1
5202

usirig La$angc's lntcrpolation formula cstimatc thc valuc of y at x = 9.

t0

2
AQ-2831

www.sgbauonline.com

www.sgbauonline.com

http://www.sgbauonline.com
http://www.sgbauonline.com


(b) Frum 0rc following data. find 0 at x = 43 and a1 x = 84
x405060708090
0 184 204 226 250 276 304

6

s.2I(a) Evaluarc Oc intcFal t = J lo&x dx by using
4

(i) l rapczoidal Rulc.
(ii) Simpson's 3/E Rulc.

(b) Using Euler's method find tic approximarc value of y when

dv
-d* = x- + y- and y(0) = I in

five steps taking h = 0.2. 'l
(c) Using Runge-Kurh method of lburth ordcr hnd'y(0.8) conecr up ro lbur

dccimal placcs if
dv_t=y x., y(o.6) = 1.7379.
dx 'l

l0

6
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